

OFFICE OF THE CHIEF JUSTICE (REPUBLIC OF SOUTH AFRICA) GAUTENG LOCAL DIVISION, JOHANNESBURG

TRIAL INTERLOCUTORY ROLL: 24 JUNE 2024

BEFORE THE HONOURABLE JUDGE: VAN ASWEGEN. AJ.

JUGDE'S SECRETARY CONTACT NUMBER: (010) 494-7122

JUGDE'S SECRETARY: Masangon@judiciary.org.za

COURT DIRECTIVES

1. The Trial Interlocutory court before Honourable Van Aswegen AJ will be heard VIRTUALLY VIA MS TEAMS:

Microsoft Teams Need help?

Join the meeting now

Meeting ID: 368 540 886 742

Passcode: K7xw3p

For organizers: Meeting options

- 2. Court commences at 10:00am.
- 3. Parties are to ensure a stable internet connection prior to commencement of court and should join the MS Teams link at 09:50 to ensure no further disruptions occur during the court session.
- 4. Parties are to ensure the draft order and practice notes are uploaded on Caselines and sent via word to the respective Judge's secretary: <u>Masangon@judiciary.org.za</u> IMMEDIATELY AFTER the order has been granted as to avoid court orders being signed after the hearing date.

- 5. In matters where it is noted on the roll that there is no bundle created on Case lines, there are no documents before the Judge, therefore the matters will be removed from the roll for non-compliance with the Practice Directives of this Division.
- 6. If any parties are experiencing any difficulties with court online, parties are to seek assistance timeously from the court online helpdesk staff at office 002 to avoid their matters being removed from the roll.

Telephone number: 010 493 2600

Email address: <u>CourtOnlineSupport@judiciary.org.za</u>.

NO.	CASE NUMBER	PARTIES	GRANTED	DISMISSED	WITHDRAWN
1.	2022/5159	MULHUE GINA JOAQUIM vs ROAD ACCIDENT FUND.			
2.	2022/043691	MACENA SIPHOKAZI vs ROAD			
۷.	2022/043691	ACCIDENT FUND.			
3.	2023/115667	SEKGAPANE SIPHESIHLE LUYANDA			
3.	2023/11300/	vs SEKGAPANE FORTUNE			
		SETEBETEBE.			
4.	2023/56448	MODIBEDI MATSHIDISO vs ROAD			
4.	2023/30448	ACCIDENT FUND.			
5.	2023/1998				
5.	2023/1998	BECKER DEWALD JACOBUS vs ROAD			
	2022/2650	ACCIDENT FUND.			
6.	2022/3659	TARWIREI STELLA vs ROAD			
	2022/040240	ACCIDENT FUND.			
7.	2022/010218	MOTOLANI SAMEER vs TURK LAILA.			
8.	2009/31096	KEKANA MABUSELE vs ROAD			
		ACCIDENT FUND.			
9.	2023/18727	MOLOI MAPOLO WHITNEY vs ROAD			
		ACCIDENT FUND.			
10.	2021/49612	CHINGORE DESAVIOUR vs ROAD			
		ACCIDENT FUND.			
11.	2023/117116	SEWENYA CONNY vs ROAD			
		ACCIDENT FUND.			
12.	2023/119279	MATIMBA VELAPHI MANGANYI vs			
		MINISTER OF POLICE.			
13.	2023/092053	WISANI WIILIAMS vs ROAD	NOT BUNDLED		
		ACCIDENT FUND.	ON CASELINES		
14.	2023/1054	MOTHOMBENI TSHEPISO LYZE vs			
		ROAD ACCIDENT FUND.			

15. 2022/004829			T	
ACCIDENT FUND.	15.	2022/004822	HAEFELE JOSEPH KEVIN vs ROAD ACCIDENT FUND.	
ACCIDENT FUND.	16.	2022/001459	DU PLESSIS JAN DAVID vs ROAD	
ROAD ACCIDENT FUND.		•	ACCIDENT FUND.	
ROAD ACCIDENT FUND.				
18. 2015/21134 WILSKUT RANDY CRANDLE VS ROAD ACCIDENT FUND. 19. 2023/100406 MABUSELS ASRAH MAUREEN VS ROAD ACCIDENT FUND. 20. 2022/039582 FOURIE DAMIEN SAMUEL VS MINISTER OF POLICE. 21. 2023/091978 PHILIMON ANDREW VS ROAD ACCIDENT FUND. 22. 2019/35656 MOTAUNG DILAHLOANE ALINA VS ROAD ACCIDENT FUND. 23. 2023/007072 KLEINBOOI SELLO SAMUEL VS MOT BUNDLED ON CASELINES 24. 2018/0008484 NAKANA THABISO REBECCA VS ROAD ACCIDENT FUND. 25. 2020/1940 KHUKHAMO MARTHA GLORIA VS ROAD ACCIDENT FUND. 26. 2018/39714 MOTLHALE PINKIE VS ROAD ACCIDENT FUND. 27. 2022/024360 SKHAKHAHE KEHLA VS MINISTER OF POLICE. 28. 2018/38739 MDLELA VIOLET VS ROAD ACCIDENT FUND. 29. 2022/037136 MHLOPHE PAUL VS MINISTER OF POLICE. 30. 2014/34084 CHIBUDU WITNESS VS ROAD NOT BUNDLED ON CASELINES 31. 2021/56214 MOROBANE NTHABISENG VS ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE VS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONIS DUDUZILE VS ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO VS ROAD ACCIDENT FUND. 35. 2023/17123 MARLEE VS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL VS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF VS ROAD ACCIDENT FUND.	17.	2022/047599	MASANGA MBALI HAPPINESS vs	NOT BUNDLED
ACCIDENT FUND. 19. 2023/100406 MABUSELA SARAH MAUREEN VS ROAD ACCIDENT FUND.			ROAD ACCIDENT FUND.	ON CASELINES
19. 2023/100406 MABUSELA SARAH MAUREEN VS ROAD ACCIDENT FUND. 20. 2022/039582 FOURIE DAMIEN SAMUEL VS MINISTER OF POLICE. 21. 2023/091978 PHILIMON ANDREW VS ROAD ACCIDENT FUND. 22. 2019/35656 MOTAUNG DILAHLOANE ALINA VS ROAD ACCIDENT FUND. 23. 2023/007072 KLEINBOOI SELLO SAMUEL VS MINISTER OF POLICE. 24. 2018/0008484 NAKANA THABISO REBECCA VS ROAD ACCIDENT FUND. 25. 2020/1940 KHUKHAMO MARTHA GLORIA VS ROAD ACCIDENT FUND. 26. 2018/39714 MOTHALE PINKIE VS ROAD ACCIDENT FUND. 27. 2022/024360 SKHAKHANE KEHLA VS MINISTER OF POLICE. 28. 2018/38739 MILEA VIOLET VS ROAD ACCIDENT FUND. 29. 2022/037136 MHLOPHE PAUL VS MINISTER OF POLICE. 30. 2014/34084 CHIBUDU WITNESS VS ROAD ACCIDENT FUND. 31. 2021/56214 MOROBANE NTHABISENG VS ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE VS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONIS DUDUZILE VS ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEDO VS ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE VS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL VS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF VS ROAD ACCIDENT FUND.	18.	2015/21134	WILSKUT RANDY CRANDLE vs ROAD	
ROAD ACCIDENT FUND.			ACCIDENT FUND.	
20. 2022/039582 FOURIE DAMIEN SAMUEL VS MINISTER OF POLICE. 21. 2023/091978 PHILIMON ANDREW VS ROAD ACCIDENT FUND. 22. 2019/35656 MOTAUNG DILAHLOANE ALINA VS ROAD ACCIDENT FUND. 23. 2023/007072 KLEINBOOI SELLO SAMUEL VS MINISTER OF POLICE. 24. 2018/0008484 NAKANA THABISO REBECCA VS ROAD ACCIDENT FUND. 25. 2020/1940 KHUKHAMO MARTHA GLORIA VS ROAD ACCIDENT FUND. 26. 2018/39714 MOTLHALE PINKIE VS ROAD ACCIDENT FUND. 27. 2022/024360 SKHAKHANE KEHLA VS MINISTER OF POLICE. 28. 2018/38739 MODELA VIOLET VS ROAD ACCIDENT FUND. 29. 2022/037136 MHLOPHE PAUL VS MINISTER OF POLICE. 30. 2014/34084 CHIBUDU WITNESS VS ROAD NOT BUNDLED ON CASELINES 31. 2021/56214 MOROBANE NTHABISENG VS ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE VS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONIS DUDUZILE VS ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYERO VS ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE VS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL VS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF VS ROAD ACCIDENT FUND.	19.	2023/100406	MABUSELA SARAH MAUREEN vs	
MINISTER OF POLICE.			ROAD ACCIDENT FUND.	
21. 2023/091978	20.	2022/039582	FOURIE DAMIEN SAMUEL vs	
ACCIDENT FUND.			MINISTER OF POLICE.	
22. 2019/35656 MOTAUNG DILAHLOANE ALINA VS ROAD ACCIDENT FUND.	21.	2023/091978	PHILIMON ANDREW vs ROAD	
ROAD ACCIDENT FUND.			ACCIDENT FUND.	
23. 2023/007072 KLEINBOOI SELLO SAMUEL VS MINISTER OF POLICE. ON CASELINES 24. 2018/0008484 NAKANA THABISO REBECCA VS ROAD ACCIDENT FUND. 25. 2020/1940 KHUKHAMO MARTHA GLORIA VS ROAD ACCIDENT FUND. 26. 2018/39714 MOTLHALE PINKIE VS ROAD ACCIDENT FUND. 27. 2022/024360 SKHAKHANE KEHLA VS MINISTER OF POLICE. 28. 2018/38739 MDLELA VIOLET VS ROAD ACCIDENT FUND. 29. 2022/037136 MHLOPHE PAUL VS MINISTER OF POLICE. ON CASELINES 30. 2014/34084 CHIBUDU WITNESS VS ROAD NOT BUNDLED ON CASELINES 31. 2021/56214 MOROBANE NTHABISENG VS ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE VS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE VS ROAD ACCIDENT FUND. 34. 2023/87954 STULRMAN NONDYEBO VS ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE VS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL VS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF VS ROAD ACCIDENT NOT BUNDLED	22.	2019/35656	MOTAUNG DILAHLOANE ALINA vs	
MINISTER OF POLICE.			ROAD ACCIDENT FUND.	
24. 2018/0008484 NAKANA THABISO REBECCA VS ROAD ACCIDENT FUND. 25. 2020/1940 KHUKHAMO MARTHA GLORIA VS ROAD ACCIDENT FUND. 26. 2018/39714 MOTLHALE PINKIE VS ROAD ACCIDENT FUND. 27. 2022/024360 SKHAKHANE KEHLA VS MINISTER OF POLICE. 28. 2018/38739 MDLELA VIOLET VS ROAD ACCIDENT FUND. 29. 2022/037136 MHLOPHE PAUL VS MINISTER OF POLICE. 30. 2014/34084 CHIBUDU WITNESS VS ROAD ACCIDENT FUND. 31. 2021/56214 MOROBANE NTHABISENG VS ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE VS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE VS ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO VS ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE VS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL VS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF VS ROAD ACCIDENT NOT BUNDLED	23.	2023/007072	KLEINBOOI SELLO SAMUEL vs	NOT BUNDLED
ROAD ACCIDENT FUND.			MINISTER OF POLICE.	ON CASELINES
25. 2020/1940 KHUKHAMO MARTHA GLORIA VS ROAD ACCIDENT FUND. 26. 2018/39714 MOTLHALE PINKIE VS ROAD ACCIDENT FUND. 27. 2022/024360 SKHAKHANE KEHLA VS MINISTER OF POLICE. 28. 2018/38739 MDLELA VIOLET VS ROAD ACCIDENT FUND. 29. 2022/037136 MHLOPHE PAUL VS MINISTER OF POLICE. 30. 2014/34084 CHIBUDU WITNESS VS ROAD ACCIDENT FUND. 31. 2021/56214 MOROBANE NTHABISENG VS ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE VS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE VS ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO VS ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE VS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL VS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF VS ROAD ACCIDENT NOT BUNDLED	24.	2018/0008484	NAKANA THABISO REBECCA vs	
ROAD ACCIDENT FUND.			ROAD ACCIDENT FUND.	
26. 2018/39714 MOTLHALE PINKIE VS ROAD	25.	2020/1940	KHUKHAMO MARTHA GLORIA vs	
ACCIDENT FUND. 27. 2022/024360 SKHAKHANE KEHLA VS MINISTER OF POLICE. 28. 2018/38739 MDLELA VIOLET VS ROAD ACCIDENT FUND. 29. 2022/037136 MHLOPHE PAUL VS MINISTER OF POLICE. 30. 2014/34084 CHIBUDU WITNESS VS ROAD NOT BUNDLED ACCIDENT FUND. 31. 2021/56214 MOROBANE NTHABISENG VS ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE VS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE VS ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO VS ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE VS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL VS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF VS ROAD ACCIDENT NOT BUNDLED			ROAD ACCIDENT FUND.	
27. 2022/024360 SKHAKHANE KEHLA VS MINISTER OF POLICE. 28. 2018/38739 MDLELA VIOLET VS ROAD ACCIDENT FUND. 29. 2022/037136 MHLOPHE PAUL VS MINISTER OF POLICE. 30. 2014/34084 CHIBUDU WITNESS VS ROAD NOT BUNDLED ON CASELINES 31. 2021/56214 MOROBANE NTHABISENG VS ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE VS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE VS ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO VS ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE VS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL VS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF VS ROAD ACCIDENT NOT BUNDLED	26.	2018/39714	MOTLHALE PINKIE vs ROAD	
POLICE.			ACCIDENT FUND.	
28. 2018/38739 MDLELA VIOLET vS ROAD ACCIDENT FUND. 29. 2022/037136 MHLOPHE PAUL vS MINISTER OF POLICE. 30. 2014/34084 CHIBUDU WITNESS vS ROAD NOT BUNDLED ACCIDENT FUND. 31. 2021/56214 MOROBANE NTHABISENG vS ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE vS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE vS ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO vS ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE vS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF VS ROAD ACCIDENT NOT BUNDLED	27.	2022/024360	SKHAKHANE KEHLA vs MINISTER OF	
FUND. 29. 2022/037136 MHLOPHE PAUL VS MINISTER OF ON CASELINES 30. 2014/34084 CHIBUDU WITNESS VS ROAD NOT BUNDLED ON CASELINES 31. 2021/56214 MOROBANE NTHABISENG VS ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE VS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE VS ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO VS ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE VS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL VS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF VS ROAD ACCIDENT NOT BUNDLED			POLICE.	
29. 2022/037136 MHLOPHE PAUL vs MINISTER OF ON CASELINES 30. 2014/34084 CHIBUDU WITNESS vs ROAD NOT BUNDLED ON CASELINES 31. 2021/56214 MOROBANE NTHABISENG vs ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE vs ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE vs ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO vs ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE vs ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vs ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED	28.	2018/38739	MDLELA VIOLET vs ROAD ACCIDENT	
POLICE. ON CASELINES 30. 2014/34084 CHIBUDU WITNESS vs ROAD NOT BUNDLED ON CASELINES 31. 2021/56214 MOROBANE NTHABISENG vs ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE vs ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE vs ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO vs ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE vs ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vs ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED			FUND.	
30. 2014/34084 CHIBUDU WITNESS vs ROAD ON CASELINES 31. 2021/56214 MOROBANE NTHABISENG vs ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE vs ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE vs ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO vs ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE vs ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vs ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED	29.	2022/037136	MHLOPHE PAUL vs MINISTER OF	NOT BUNDLED
ACCIDENT FUND. 31. 2021/56214 MOROBANE NTHABISENG vs ROAD ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE vs ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE vs ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO vs ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE vs ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vs ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED			POLICE.	ON CASELINES
31. 2021/56214 MOROBANE NTHABISENG vs ROAD	30.	2014/34084	CHIBUDU WITNESS vs ROAD	NOT BUNDLED
ACCIDENT FUND. 32. 2022/58882 DZUDZA SPHELELE vS ROAD			ACCIDENT FUND.	ON CASELINES
32. 2022/58882 DZUDZA SPHELELE vS ROAD ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE vS ROAD ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO vS ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE vS ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vS ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vS ROAD ACCIDENT NOT BUNDLED	31.	2021/56214	MOROBANE NTHABISENG vs ROAD	
ACCIDENT FUND. 33. 2023/68752 MATHONTSI DUDUZILE vs ROAD			ACCIDENT FUND.	
33. 2023/68752 MATHONTSI DUDUZILE vs ROAD	32.	2022/58882	DZUDZA SPHELELE vs ROAD	
ACCIDENT FUND. 34. 2023/87954 STUURMAN NONDYEBO vs ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE vs ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vs ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED			ACCIDENT FUND.	
34. 2023/87954 STUURMAN NONDYEBO vs ROAD ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE vs ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vs ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED	33.	2023/68752	MATHONTSI DUDUZILE vs ROAD	
ACCIDENT FUND. 35. 2023/17123 DLAMINI ZANELE vs ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vs ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED			ACCIDENT FUND.	
35. 2023/17123 DLAMINI ZANELE vs ROAD ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vs ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED	34.	2023/87954	STUURMAN NONDYEBO vs ROAD	
ACCIDENT FUND. 36. 2021/58566 LAMB CHARLES MICHAEL vs ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED			ACCIDENT FUND.	
36. 2021/58566 LAMB CHARLES MICHAEL vs ROAD ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED	35.	2023/17123	DLAMINI ZANELE vs ROAD	
ACCIDENT FUND. 37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED			ACCIDENT FUND.	
37. 2022/059318 FARAH HANIF vs ROAD ACCIDENT NOT BUNDLED	36.	2021/58566	LAMB CHARLES MICHAEL vs ROAD	
			ACCIDENT FUND.	
FUND. ON CASELINES	37.	2022/059318	FARAH HANIF vs ROAD ACCIDENT	NOT BUNDLED
			FUND.	ON CASELINES

38	2018/6993	MOLINGOANA JOSEPH THABISO vs		
30.	2016/0993	ROAD ACCIDENT FUND.		
20	2016/06502			
39.	2016/06582	MZAMO PRECIOUS NOMPUMELELO		
	-	vs ROAD ACCIDENT FUND.		
40.	2022/39075	MSETI MZWAKHE AMBITIOUS vs		
		ROAD ACCIDENT FUND.		
41.	2020/12990	NAICKER KEUBENNATHAN vs ROAD		
		ACCIDENT FUND.		
42.	2019/29155	DUBE PRINCE DIMENSION vs ROAD		
		ACCIDENT FUND.		
43.	2016/16486	MOTHAPA EVELYN NELISWA vs		
		ROAD ACCIDENT FUND.		
44.	2017/44738	WOTSETSE NONTLE vs ROAD		
		ACCIDENT FUND.		
45.	2022/17249	MAMBA WELILE BONGANI vs ROAD		
	-	ACCIDENT FUND.		
46.	2019/3156	MARAIS LINDA NORA vs ROAD		
	-	ACCIDENT FUND.		
47.	2021/55603	KHAKHU AIFHELI MONICA vs ROAD		
	•	ACCIDENT FUND.		
48.	2021/26253	MHLANGE CELIMPILO PHILANI vs		
		ROAD ACCIDENT FUND.		
49.	2022/13128	MARTINS KOKELETSO GLADNESS vs		
		ROAD ACCIDENT FUND.		
50	2022/7703	LESELE TSHEPISO TONY vs ROAD		
50.	2022/1103	ACCIDENT FUND.		
		ACCIDENT FUND.		